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RLE & 5lgH
RLE ARES

(1) 4501& + 2601& = (16) 64418 = 15318 =
(2 2609k + 641 Jk = (17) 9563 JK — 296 Ik =
(3 b401& + 2031& = (18) 68218 — B34 18 =
4 320 Ik + 282k = (19) 594 4% — 176 4% =
(5) 7301% + 8181& = (20) 593 1% — 43518 =
6) 240 JK + 166 Ik = 21) 569 Ik — 258 3K =
(1) 650 I + 493 Jk = (22) 674 1% — 28618 =
(® 4401% + 6851 = (23) 8269k — 456 Ik =
9) 526 Ik + 126 Ik = (24) 483 1% — 4581% =
(10) 463 1& + 3751& = (25) 486 1% — 18818 =

16 1% + 569 1% = (26) 952 J& — 565 Ik =
(12) 486 I + 463 JK = 27) 59618 — 561 17 =

(13) 45618 + 41 1& (28) 763 Ik = 85 JK =

(14) 163 Ik + 463 Ik

29) 763 I8 — 673 Ik =

(15) 97548 + 9131& = (30) 485 JK — 469 JK =
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BLE & 5128
RLE 7] =5
(1) 342 K + 467 Ik = (1) 942 1% — 76718 =
(2) 6751% + 46318 = (17) 863 Jk — 524 Ik =
(3) 1681& + 7931% = (18 19618 — 43 18 =
4) 45618 + 16718 = (19) 796 K — 85 Jk =
(5 274 Ik + 493 JK = (20) 762 Ik — 164 Ik =
() 31518 + 16418 = (21) 954 18 — 49718 =
(7) 264 Ik + 496 JK = 2137 - 19 Jk =
) 18918 + 467 1% = (23) 573 & — 46318 =
() 34 I8+ 6499k = (24) 79118 — 1644% =

(10) 467 18 + 731 1& (25) 934 JK — 473 JK =

(1) 943 3K + 467 3K

(26) 973 JK — 186 JK =

(12) 521 1& + 28618 = (27) 85218 — b42 18 =
(13) 92 1& + 954 1& = (28) 648 Ik — 266 I =
(1494368 + 25 JK = (29) 86318 — 589 1% =
(16) 572 1% + 564 1% = B0 91 Jk - 588 Jk =
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BLE ¢& 5128
ZLE AE:!
(1 1659k + 76 JK = (16) 521 JK — 89 JK =
(2) 42518 + 2651% = (17) 86418 — b321& =
(3) 67218 + 48 & = (18) 624 Ik — 183 K =
4) 593 JK + 735K = (19) 7621 — 27515 =
) 16318 + 9151% = (20) 934 Ik — 642 JK =
©) 89 JK+ 437IK = (21) 185k — 83 JK =
(7) 46 1% + 486 1% = (22) 85618 — b24 15 =

®) 752 1% + 591 1% (23) 789 1% — 753 1& =

(9 186K+ 83 JK

(24) 567 JK — 43 Ik =

(10) 497 1% + 47518 = (25) 69818 — 59 1& =
(11 6379k + 26 JK = (26) 568 Ik — 1859k =
(12) 981 JK + 493 JK = (27) 945 K — 435k =
(13) b6 & + 7562 1% = (28) 635 1% — 62418 =
(14 82 L+ 19 JE = (29) 863 1% — 4831% =
(15 43548 + 75 1& = (30) 792 Ik — 6239k =
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BLE ¢& 5128
ZLE AE:!
(1) 754 1% + 4651%& = (16) 1629k — 79 JK =
2 163k + 256 JK = (17) 98518 — 6261& =
(3) b281& + 2b531& = (18) 76418 — 453 1% =
4) 49 1& + 46318 = (19 915k — 782 Jk =
5 352K+ 59 JK = (20) 834 JK — 163 JK =
(6) 42718 + 1521%& = (21) 92612 — 85 f& =
(1) 186 1% + 7631% = (22) 852 J& — 426 K =
® 972k + 49 JK = (23) 6431% — 1751&% =
9) 65218 + 75218 = 4) 64218 — 49 & =
(10) 428 JK + 186 Jk = (25) 950 JK — 532 JK =
(1) 76548 + 3621& = (26) 952 J& — 88D JK =
(12) 19 JE + 443K = (27) 63218 — 4331 =
(13) 354 JK + 262 Ik = (28) 856 Jk — b6T IR =
(14 92518 + 86 1& = 29) 46312 — 2851% =
(15) 167 JK + 155k = (30) 83 J& — 28 JK =
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BLE & 5128
RLE Ak
(1) 9521 + 853 1% = (16) 856 Ik — 685 JK =
2) 6159k + 563 Jk = (7 1274% - 67 & =
(3) 654 1& + 4851% = (18) 469 I8 — 324 Ik =
(4) 9551% + 32618 = (19) 59318 — 463 1% =
(5) 235 Jk + 245k = (20) 853 J& — 348 JK =
(6) 254 JK + 952 JK = 1) 7249k = 621 Ik =
(1) 652 1% + 457 1% = (22) 43518 — 254 1% =
® 2169k + 63 JK = (23) 627 1% — b6T1& =
(9 5131& + 1581& = (24) 856 I8 — 523 Ik =
(10) 785 1% + 2081% = (26) 94218 — 82318 =
(1) 462 9k + 450 9k = (20) 830 & — 256 Ik =
(12) 856 JK + 6759k = @7) 946 18 — 58618 =
(13) 632 1% + 23618 = (28) 61518 — 21848 =
(14) 2359k + 351 Jk = (29) 752 I8 — 346 K =
(18) 762 1& + 526 1% = (30) 830 1% — 726 1% =
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